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The way in which T solved +he pro\olem posed in RHIg is
unnecessur.b complex . If we toke the %Howins vecurvence

reloon as our s*wr%—in_g po‘wﬁ o simpler program s possible
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This %pe or recurrence Y‘e‘a}v.on is called "linear and
"V\on-—\now\ogeneOus " I} con be +ronsformed into a komogeneows
one by introduchion of on oddiKonol coordinate which , beause
its volue is constomt, con remain anonywious
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evivahon of Hhe %llowivg progroum

From this relobon +he d

s q_u.i"-e standard -
(s(N))= ‘(’)’ Z)n*.(z) N 0<n< N,

nvariont 1
progrom : n,a,b,x := N, R,1,0
;do n#0 — do nmod2=0 — n,a,b: -h/za*aa.x-b+b
od |
3 N,X = N-1, axX+b
od
{s)=x1.
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